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— 2505 [197R3] KOR 5791 55557 501 92
And 599377 991 "1 is it then written, ‘only’ [by another]

Overview

The Rn>>72 cites a dispute between 3" and ¥"1 how to interpret the P09 of? X7 OX)
31 2997 NIwa R¥™ 7782 HR (regarding a °151% 10n1). According to "0 if the 1oma
217 was not 7782 P8\ (by his relatives, which would have set him free
immediately), but rather he was 583 by others, he still has to work for them until
7av.3 However ¥"1 maintains that if he is 7782 9X31 he must serve them (the relatives)
until 521, but if he is 7% by others (not relatives) he is immediately freed.* 3" (or
the X7m3) asks on ¥", does it say 7782 'ROX' in the ?109.° There was a X073 that the
X3 (also) asked on 3";7°7, does the P09 state TnX2 X9R.° Our MdoIN discusses the
veracity of this Xoa.

- 7X)1) 997 NPT APOYOT 1YY DY) YT N
It appears to Moo that we do not read the question of '2°n> AR2 KX 71 A",
in our text, for the simple meaning of the verse indicates so, that 7% excludes X —

Mmoo offers an additional reason why we are not '2°n3 TR XX >7°1' 0
- INDYPY 2297 192 5555)N Y09 229D P2 NIVP NINN REINND NI ENXIPONIT T

!'In our X3 the text reads 2°n3 72832 X9 (instead of 22n> [1nXa] XOX.

273,70 (Am) R

3 3" reads the P09 as if it would say 7982 983> 82 oX1 (by relatives) "nxa X7X' (but rather by others), then 22172 R¥7
he must work for the 71 until 721° (but by 72X [relatives] he is freed immediately).

43" reads the P10 as if it would say "3 92177 nIwa XYM 7782 'R7K' DR K2 OXY; meaning that if he was 7982 9831 he must
work for his relatives until v, but if he was 9831 by others he is free immediately.

5 See footnote # 4.

¢ See footnote # 3. How does 3";71 know that if others redeem him that he must serve them till a1, since the 7105 does
not state 721°2 RX*1 IMR2 XX 77782 HR3° X2 XY, It could be that 72172 X¥™ is only if no one redeemed him (not his relatives
and not TnX), but if someone redeemed him (whether 77X or InX) he is freed immediately.

7 When the 7109 states 131 7982 X3 XY oX), it certainly indicates that we are (also) discussing another type of 723
besides 7R (namely others). For if the P10 meant that he was not 7Xa1 altogether (see footnote # 6), the 770 should
have written 92177 nIW2 X¥" PR3 X9 oXY; adding the word 7982 indicates that there is another 79%3 (besides 79%) which
confines the 72y to continue to serve until 921 (see [however] footnote # 11). [However the question on ¥" (that >
2°n3 19X2 'K9R') is a valid one for 7782 RPX is not Xp7 70ws.]

8 The conclusion of the X713 is that both ¥"7 and 3"7"1 agree that 77X is an exclusion (that only if he is redeemed with
2R does he go free, however if he is not redeemed with 77X he must serve those who redeemed him), the question is
whether 79X refers to 0°217p (the view of 3"i°7) and it excludes o™ nx (that he must serve them), or whether 79 refers
to X (the view of ¥"1) and it excludes 2°217p (that he must serve them).

 Both 3"71 v"1 agree that 79X excludes 01X (see footnote # 8). If there is a valid question of 2203 AR RYX 7; the
question remains unanswered, since both 3"7°71 ¥"1 interpret the P105 to mean X2 KPR 7782 PRX K.
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And additionally, according to the conclusion of the X722 this question of >7°»'
'2°N2 MR ROR, is not answered whether according to 3''77°7 or whether according
toy'"" -
=199 25NT NWM 13539 29N NI NPD 2D9)7 D990 19N D990 29929
And in most texts the question of '2°n> 7nX2 XX >1n' does not appear. And
according to those who read it in their text, it appears to 7wn 2'"7 that this is
the explanation of the question -
- 10952)9559 NYN Y5 $19N NYT 1193 2505 [INNA] KON 1)

2502 InR2 KON 97, since the 7109 is only discussing redemption by relatives, so -
= Ay DTN Y INYAYT Y550 Y0 239D 1Yo

How does 2'"';1°9 know that if he is redeemed by any others he must serve them -
= 149299H 1999N N2P9912Y 1819 XY DINN DAN NYP991D 181 0219 N4

Perhaps only relatives can redeem him but others cannot redeem him at all,

even for the purpose that he should serve them. This explains the question of X3 XX >7»
.
- 3RyIng NYININ ) KD 999197 12XIPONN 999Y NEINN 9513

And with this explanation of the question '2°n3 71X XPX 71", the question is
properly answered according to the conclusion of the X923 that the ?0p is also

discussing 29717 NN -
$1199 5INT 9199 579D 1INTI 919D NN 1991 XIPT 1YLV 19 ON)

So therefore the simple reading of the 105 is so (that 75%2 5X) X7, but rather X7X
qnR3, through someone who is not 117X), according to this master (3"7°) as he
maintains, and according to the other master (¥") as he maintains.

Summary
The simple reading of 77982 X3 R? aR1 indicates that if X1 another way he remains

in servitude until 2v. Alternately we may have thought (in the X™7) that 77X limits
the rights of redemption to relatives only (but no strangers). However in the

19 The oo (in bn, 3 [AA2] RIPM) states PRAN VT 70w I WIR INADWAN 192 IRWA IR IR 1717 12 R 1717 . The 770
only discusses the possibilities of the 72y being redeemed by his relatives or by himself. There is no explicit mention
of redemption by non-family members.

! The 7710 writes 7282 X3 X7 OX1 to teach us that only 778 (which means 0°2177) can redeem him; to the total exclusion
of others. See footnote # 7.

12 A marginal note amends this to X102 (instead of XIPONR).

13 Both agree that the word 7831 in the P10 (see footnote # 10) is referring to 2R N3,

4 We cannot say anymore as we asked initially that 77X means that he can only be redeemed by relatives and not by
others (see footnote # 11) because we now know from 2Xa1 that others can also redeem him (see footnote # 13).

15 See footnote # 8 (who the 119X refers to, and what it excludes, according to both 3" v"9).
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conclusion we know that strangers may redeem, therefore 77X excludes those who
are not 17X to continued servitude.

Thinking it over
The "7 explains that the question of 2°n3 k2 XX 7 was valid before we knew

from the P09 that there is a 0>nX2 77I183; however once we know that there is 72X
o nxa (as well), there is no question.!® If this is so; how come the X713 later (after it
taught us that PXa refers to 2°KR NIRA) asks '71°N2177 WP X177, seemingly there is
no more XYY since MR KYX is XIP7 7°vwd (and it cannot be an exclusion that X
0™nR °"'y YR, since we have the P1oo of Hxa) 2!

16 See footnote # 14.
17 See yw1 219,70 Ny and w"wA.
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